SAXON MATH

Course 2

Lesson 38 - Interpreting Graphs

Power Up

— Facts

— Mental Math

— Problem Solving
New Concepts

— Examples

— Practice Set
Written Practice
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1. - 9. a. 14
2. 115 pages b. 5
3. 352 seconds c. 30
4. 5000 cans d. Identity P_rop_erty
5 175 of Multiplication
| es 10, a. 3000
6. See studentwork. 3584”
pages b. 2986.342
7. a. 144 pages Mira o 48 pages
8’ 48 pages
b. 48 pages -
8. a 432in.2 48 pages
. Mira did 48 pages
b 100 In. not read % 28 pages
48 pages
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11.

12.

13.
14.

15.
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a. 1
b. 4

c. Sample space 2 is better because it lists the outcomes
that are equally likely.

a. 1l.2cm
b. 12 mm
4.4 cm

The number 3.4 is about halfway between 3 and 4. Point B is
too close to 3 to represent 3.4. So the best choice is point C.

a. ACorCA
b. BCorCB
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Written Practice continued

16. a. 18cm? 25,
b. 18cm?2 2. 0

c. 36cm? o7 A
a.

b.

—i
PO —

17. 2.4 28. 125 mL

18. 8.3 875 mL

19. 0.45 29. switch 916.42 and 916.37
20. 6.25 30.

21. 37.07 N E

22. 0.25 =8N SER T
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